Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reflexion (Iog)
OstwaldFarbe: Griin G, =470 A5=570 A¢=520
Dreiecks-Helligkeit 1+

log[R())/0,18] Reflexion (log)

M) = logRr (V)] =
OstwaIdFarbe Cyan C,\=400 Ap=570 A¢=495
Dreiecks-Helligkeit  T*
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Rs(A) = log[Rr(A)] = Iog[R()\)IO 18] Reflexlon () r
M=

OstwaldFarbe Gelb Y,
Drenecks Hewgkeu ™

Cag

Name & Spekua\beveleh 48
Rm570_770 %,520_770

G 470_570 G, 380_570

Br 380520 M, 570_470

6 Optimalfarben (0), Yy=90,
6 von maximalem (m)C,\B fur Eoo’
in Bumwer\ma ram (Ay, Bo)

Rs(A) = Iog[R,()\) = log[R(A)/0,18] Reflexion (log)
OstwaldFarbe: Blau B, ;=400 =495 \¢=470
Ro(A) Dreiecks-Helligkeit
08 10.698__

Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reﬂexnon (Iog)
OstwaldFarbe: Rot R, =570 ,\>=700 \¢=595
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04

Rs(A) Drs\ecksHeH\gke\t ™ B

Wellenlange)\ /nm

A) = log[Rr(A)] = log[R(A)/0,18] Reflexion (log) &
OstwaldFarbe: Magenta M, \1:=570 A;=470 Aq=520c *
Dreiecks-Helligkeit T+

Normreflexion
0,036<=R(A)<=0,900
log[Relative Reflexion]
Rg(A\)=log[R()/0,18]




